|‘|||| "“II FACS

Industrial, Fleet & Construction Supplies

1195 PC GRADE 10.9 ASSORTMENT M6-M14

IFACS-038
60CNFH1 B60NWF1XZ B60NLOCZ .60C120HCS1 .60C200HCS1 .60C300HCS1 .60C400HCS1 .60C500HCS1
M6-1 HEX NUT M6 FLAT WASHER HARD M6 SPLIT LOCKWASHER ZN M6-1 X 12 CAP SCREW M6-1 X 20 CAP SCREW M6-1 X 30 CAP SCREW M6-1 X 40 CAP SCREW M6-1 X 50 CAP SCREW
50 PCS 100 PC5 50 PCS 25 PES 25 PLS 25 PCS 25 PS5 25 PCS
80CNFH1 BONWEF1XZ BONLOCZ .80C200HCS1 .80C300HCS1 .80C400HCS1 .80C500HCS1 .80C600HCS1
M8-1.25 HEX NUT M8 FLAT WASHER HARD M8 SPLIT LOCKWASHER ZN M8-1 X 20 CAP SCREW M8-1 X 30 CAP SCREW M8-1 X 40 CAP SCREW M8-1 X 50 CAP SCREW M8-1 X 60 CAP SCREW
50 PCS 100 PCS 50 PCS 25 PCS 29 PES 25 PCS 25 PCS 25 PCS
100CNFH1 JO0ONWF1XZ 100NLOCZ .100C300HCS1 .100C400HCS1 .100C500HCS1 .100C600HCS1 .100C700HCS1
M10-1.5 HEX NUT M10 FLAT WASHER HARD M10 SPLIT LOCKWASHER ZN M10-1.5 30 CAP SCREW M10-1.5 40 CAP SCREW M10-1.5 50 CAP SCREW M10-1.5 60 CAP SCREW M10-1.5 50 CAP SCREW
25 PCS S0 PLS 50 PCS 23 PS5 25 PES 25 P15 15 PCS 15 PCS
120CNFH1 JA20NWF1XZ 120NLOCZ 120C300HCS1 .120C400HCS1 .120C500HCS1 120C600HCS1 120C700HCS1
M12-1.75 HEX NUT M12 FLAT WASHER HARD M12 SPLIT LOCKWASHER ZN | M12-1.75 X 30 CAP SCREW | M12-1.75 X 40 CAP SCREW M12-1.75 X 50 CAP SCREW M12-1.75 X 60 CAP SCREW M12-1.75 X 70 CAP SCREW
25 PES SOPES 50 PCS 15 PCS S PES 15 PES 15 PES 15 PE5
140CNFH1 J40NWF1XZ 140NLOCZ 140C300HCS1 .140C400HCS1 .140C500HCS1 .140C600HCS1 .140C800HCS1
M14-2 HEX NUT M14 FLAT WASHER HARD M14 SPLIT LOCKWASHER ZN M14-2 X 30 CAP SCREW M14-2 X 40 CAP SCREW M14-2 X 50 CAP SCREW M14-2 X 60 CAP SCREW M14-2 X 80 CAP SCREW
15 PCS 25 PCS 25 PCS 10 PCS 10 PCS 10 PCS 10 PCS 10 PCS




